Process Standards Rubric

Number and Operations — Drill Sheets
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Number and Operations CCP3212-3
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¢ Timed Drill Cledh 5  NAME

8a) Compare the following numbers using either
>, Of <, Or =.
D6/7[ ]3/4 in7/8[ ]2/3
3 9
Yinore iy 1/3[]2/5 v) 4/3[]5/4

b) Solve the following.

(44 +23)-42 + 6= iN33+12+4+ 40+ 15) =

i) (24 + 8)? = iv) 42 -12 + (28 - 18)2
¢) Round the following number to the nearest w ber.

i) 365.12 = i) 4199.89 i 0.513 =
d) Put the following sets of i orfleNiro® least to greatest.

e) Divide the following and round to the nearest hundredth.

) 567.32 + 17 = i) 12.672 + 3.2 =
jii) $652.08 +~ 13 = iv) 198.80 + 71 =
N
You take your two best friends out for lunch. Your treat! The bills come
to $14.50, $12.80 and $15.75. If you tip the waitress 15%, what is your
total bill (to the closest cent)?
Answer:
J
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NAME: M Review Gliedl

Review B

a) What is the number 10 000 before the following:

) [80252
iy 952 873.6

b) Multiply the following.

) 5902 i) $53.90 i) 765.1 V) .01
x 245 x 376 x 23.5 x 3.7

c) Calculate the mean, median a list of numbers.

390, 440, 280, 782, 440, 336,

d) Record the followifg number in the accompanying place value chart. 29 064.013

Ten

Thousands | Hundreds | Tens | Ones | Tenths | Hundredths | Thousandths
Thousands

e) Solve the following.

) 1/3 x 4/5 = i) 7/8 + 1/4 =
i) 7 x 1/5x2/7 = iv)2/3+1/8x1/2=
V) 6.2 x 102 = vi) 0.002 x 108 =

© CLASSROOM COMP LETE/I@PRESS Number and Operations CCP3212-3



Divisor, Dividend, Remainder

a) Write the equivalent fractions of:

N "

b) Calculate the mean, the median and the mode for the following:

Mean =

Median =

Mode =

c) Show each fraction as a percent. s ?
d) Divisor = %ﬂ E , Remainder =
uot

What is the q

e) What is the LCM of the following numbers.

f) Write the following number in expanded form.
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